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BRNTHEE

IH B ALy 5 (P53 ) KRR A A 2R

F1. UK (No 1 T ) B B AT RS 5 SRITHE6H K BE
L S " 5} HLAL FEE(E 4H 5H 6H 7H 8H 9H 104 11A 121 1A 21 3H
B A - - R7.4.25 R7.5.14 R7.6.11
fHROB/HNIZH - - R7.5.14 R7.5.26 R7.6.24
ERAEER ms/m — 69.8 69.4 70.3
w4 mg/0 — 31.6 13.1 10.0
T LK ER mg/0 |[BHEhienzE - - -
FaAK R mg/0 0.0005L4 - - -
FIRIY I mg/0 0.003LL - - -
&n mg/0 0.01LAF - - -
VaV(iiv4=8N mg/0 0.020L F - - -
i mg/0 0.01LAF - - -
BT mg/0 |MHEhaRnZE - - -
RUHkE 7 ==1 mg/0 |[MitiEhmNZE - - -
[N A=i=1est 2 P2 mg/0 0.01LLF - - -
FhI/nnTFL L mg/0 0.01LLF - - -
Da=1=5 % 4 mg/0 0.020L F - - -
WAL mg/0 0.002LLF - - -
1,2—/anxiy mg/0 0.004L4 - - -
1,1—y/vpxcsL mg/0 0.1LLF - - -
1,2—Y/apxFL v mg/0 0.04LLF - - -
1L,L,1—KNZaaxzg mg/0 1L - - -
1,1,2—N)raaxzgy mg/0 0.006L4 - - -
1,3—Y7rarmy mg/0 0.002LLF - - -
FUT A mg/0 0.006LL - - -
D e mg/0 0.003LLF - - -
FARIINT mg/0 0.02LLF - - -
NPy mg/0 0.01LAF - - -
L mg/0 0.01LLF - - -
L4—F %Y mg/0 0.05L4F - - -
sanxzFL s mg/0 0.002LL - - -
fHROB/HNIZH - - -
HAZFL U HA pg-TEQ/0 1R - - -
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BRI S (PRI A3 50) KR s A S

F2. T K (No2 B ) A E R AAS R SRITH6 H K BE

L | H BT FeHefE 44 54 64 7H 8 A 9A 104 114 121 1A 2A 3A
B A - R7.4.25 R7.5.14 R7.6.11
HROB/HNIZH - - R7.5.14 R7.5.26 R7.6.24
ERAEER ms/m — 38.9 39.7 39.4
bR (/R g mg/0 — 14.4 8.4 24.2
T LK ER mg/0 |[BHEhienzE - - -
FaAK R mg/0 0.0005L4 - - -
FIRIY I mg/0 0.003LL - - -
& mg/0 0.01LAF - - -
VaV(iiv4=8N mg/0 0.020L F - - -
i mg/0 0.01LAF - - -
BTV mg/0 |MHEhaRnZE - - -
RUHkE 7 ==1 mg/0 |[mitishmNZE - - -
NZooxzFL mg/0 0.01LLF - - -
VAl N e/4=1=a PV mg/0 0.01LAF - - -
Da=1=5 % 4 mg/0 0.020L F - - -
PR mg/0 0.002LL T - - -
L,2—Y/nnxiy mg/0 0.0042LF - - -
L1—y/uaxFL v mg/0 0.1LLF - - -
1,2—YapxFL v mg/0 0.04LLF - - -
1L,L,1—KNZaaxg mg/0 10T - - -
L,1,2—RNiZaaxzy mg/0 0.006LL - - -
1,3—Y7rarmy mg/0 0.002LLF - - -
FUT A mg/0 0.006LL - - -
D mg/0 0.003LLF - - -
FARTINT mg/0 0.02LL°F - - -
NPy mg/0 0.01LAF - - -
L mg/0 0.01LLF - - -
L4—oAxH mg/0 0.05L4F - - -
VA=1=E= S mg/0 0.0025L°F - - -
fHROB/HNIZH - - -
HAZFL U HA pg-TEQ/0 1BLF - - -
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